REDENTORE 6

MONSELICE C 1

RISULTATO SET TOTALE
SQUADRA A SQUADRA X 2 3 5 SET PUNTI |PARTITE
A XITA| XA X|AI XA X A XA X|A|X
A IMERLIN X |BUSACCA 511|116 (12|10 8 (11|11 | 4 | 3 | 2 [47|42| 1|0
B BERTON Y ZERBETTO 11,7 |11/ 8 |11 8 3/01(33/23|/1|0
DP|MERLIN-NALIN DP|BUSACCA-MAGRIN 10(12 |11 7 |12 /10|11 | 7 3 114436 | 1 0
C INALIN Z MAGRIN 51119 |11/11| 9 (12|10, 9 |11| 2 | 3 |46/52| 0 | 1
B BERTON X |BUSACCA 11| 7 [13 1111210 3/ 01(3(28/1|0
A IMERLIN Z IMAGRIN 1|7 | 8|11 6 (11|11 3 |11 8 | 3 | 2 (47|40 1|0
C INALIN Y ZERBETTO 11/ 8 |11/ 5|8 [11]11]| 5 311141129/ 1|0
B 4 00
C X 00
A Y 00
TOTALI| 20 | 9 |294/250| 6 | 1




